
                                                       10108899 

1 
 

2017  
A 100  

 
3 30  

1 3-    

A 3   B 1
3
   C 1

3
-    D 3±  

2    

A 5 2 3- - = -    B 1( 2) 1
2

- ¸ =    C
22 4

3 9
=    D 0 ( 3) 3- - =  

3    
A    B    C    D  
4 90AOBÐ = 30BOCÐ = OD AOCÐ BODÐ    

 
A 45    B 60    C 30    D 20  
5    

A 1- 0   B 24xy z- 24xyz-    C 2x y- 22yx-    D 3a- 34a  

6 8 30    
A 90    B 75    C 60    D 30  

7 1 1 1
2 3

x x+ -
- =    

A 3 1 2 1 1x x+ - - =      B 3 1 2 1 6x x+ - - =  
C 3( 1) 2( 1) 1x x+ - - =    D 3( 1) 2( 1) 6x x+ - - =  
8 31 18 20

2
x    
A 31 2 18x+ = ´        B 31 2(38 )x x+ = -  
C 31 (20 ) 2(18 )x x+ - = +    D 31 (20 ) 2 18x+ - = ´  

9 3.1- 2.9- ( 3)- -    

A 3.1- < 2.9- < ( 3)- -    B 2.9- < ( 3)- - < 3.1-  

C 2.9- < 3.1- < ( 3)- -    D 3.1- < ( 3)- - < 2.9-  

10 22( 1) 5 0a b+ + - = 2 2a b    

A 10   B 10-    C 25   D 25-  
 



                                                       10108899 

2 
 

4 20  

11
22

3
nab

-          

12 2007 10 24
200 38.44

38.44 =     
13 12 72cm     cm  
14 3 22x x× =      

15 2 3 3a b
a b

+
=

-
2 3 3( )

2 3
a b a b
a b a b

+ -
+

- +
     

4 5 20  
16  

1 25 63 ( 3) 3 ( 1)x- + ¸ - - -    2
1

0 2 12014 3 4
2

-æ ö÷ç- + - + ÷ç ÷çè ø
 

17  

1 2 2 5 3
5 3

x xx - -
- = -      2 4 1.5 2 3

0.5
x x-

- =  

4 30  

18 7 61
3

mx y 1
6

m nxy +- 7 6 5 4 3 2mn m n mn m n- + - + -  

19 7

 

 
1          
2      
3 1  

 
 
 
 
 



                                                       10108899 

3 
 

20 7 80cmAB = M AB P MB N PB
14cmNB = PM  

 

21 9
4.5

10 /  
1  
2  

   
 48  36  

 100  80  
y 5y ax b= + + a

/ x b
295.4

a  
 

 
 

B 50  
4 20  

22 m n n m- = - 4m = 3n = 2( )m n+ =      

23 0a c< < 0ab > b c a> > a c b c a b+ + + - - =      

24     

 

 

    

 

 

            
25 2 4xa = 3ya = 2x ya - =      
26  

1     2     3     4    
2     3     4     5    
3     4     5     6    
4     5     6     7    
…     … 

        
6 6     n n

    n  
 



                                                       10108899 

4 
 

 

27 8 22 3 2 1A x xy x= + + - 2 3 2B x xy x= + + -  

1 2x y= = - 2A B-  
2 2A B- x y  

 
 
 
28 10

35 /
3.5 900 1 a

8  
1  
2 7.5 a  
3 2

2 2
3

1
3

14400
 

 
 
 
 
29 12 30 60 PA
PB MN PAC PBD P  

 

1 90DPCÐ =  
2 PACÐ PA PN P PF
APDÐ PE CPDÐ EPFÐ  
3 PAC PA PN P 3 / s

PBD PB PM P 2 / s

PC PM CPD
BPN

Ð
Ð

 


